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ROUNDING TO NEAREST 10 AND 100

(To'THE NEAREST HUNDRED)

(To THE NEAREST TEN) |

Number: 54
Hill Stm‘tegcj
 Rounds 55 - Mid foint
to 50 £

S0 O

T£ the number is 4o the left of the
Midpoint , lcave it alone. If it is fo the
ﬁ%‘ﬂﬂ 30 up.

number : o2
Hill  Strategy

Round § +o H50

Swm

“oOo

500

'Spo+|i3Vrr Strateqy
& Spetlight
Place — = Rounds +o
Value \ 50

(50) O

0 Fina place value & underline
@ Circle 4he number to +he right

@ [ I.F number is H or |CSS|\¢AVG
it alone . T€ 5 oc Wgher, go up.

Spo‘t‘\is\r\'\' Strat Y

Spotl igsh-r
Place H@{ '

Value 7’\
Hoo

Rounds up o 500



ADDITION WITHIN 1,000

equation: 328 +2917 =

Expanded Form:
- Place Value:

add{n<d%7-8 300 + 2.0 + 8 32—8 7 addcnds
+'297| 200+ qp + 1 + Qa1
500 | H (Hundreds)
Suw'?(olf) 500 |10 45 T, i
200 X?.O > ___LQ. O (ones)
600 20 5 B15 & Sum

addends O en Numbcr me’- s
%Zqﬂ = b15 < Add the jumps:

. |00 + 100 = W00 2Q77

St > ?

-l'\ncar:l;;':rhqddend Z to d‘ d‘i;o (5 or10) sg : z_‘f -t=2°'7 qo0

g *r"-%n\/\' ngf(: + loo\’ +I100V *29/1‘5\/
—

\ 318/\3301‘350 HOD 500 (500 (910(;\2_5

um
i Sum



SUBTRACTION WITHIN 1,000

‘ OPer\ Number Line . m jé(;v7

So\ve bi) “addin up 10 Sustract”

@:izg/woo o D> 40 567 HE-5I3
. . 3
3677 310 S0 800 80 2> “w missing addend.

4 -50 % Add wo +o subtract’/
, : O )
g TE 50 > 3L+ _/B\=370
813-341 [q4gledifference 180rfres]- foo
Boo+\ 10[=8B 10O
10+ =813

Ev panded. Form)
00 109 Get Qr\er\ollg
313 = 880 +Ta+13 e
_247- ag0* GO+ T Stay Yrle

Hen Hhe Le%)-é'overs
' "LH(D;!:&_OO+ L_l()—ré B




MULTIPLICATION

LD Tx8 or 5638 (epedded Ml

:::“ :::.' The first < 7 %9 —> The second Factor tells you what
1| € Sl40 ‘F::t:; c'}:‘“‘ the addend is
5|24 clet Rlof™ 6+8:8+8+8+8+8°5b
4132 w 24 32 4o %
540 Shortcut for
Ll4®
7156

lavgex factors...

find o Friend! “ X -
foct you I:nowY Eqnd Droups 7 8
DO OO

Ho 7 The +otal number
inSid¢ eadn g\roup

is the g\roduo
The prodvct of 7x% is 56.

IS




7x8 » 5625 DIVISION

' FYXN o000 l *1' ‘ ‘Li ;—: \?ov.v Man\v] Q&b
X loae X oo Ly . \PS/ S ? | !-' growg ggj; I
< 5740 AEcss o JNENENENEAR N NN
AR ALY ﬁ__"t"__{“@{wﬂ)(@ﬂjlm I I O O 6
2|24 7156 i e ) ) () TAS like
4132 L7 W 2l 28 35 deling cards'
5(40 Shordcut fov lunt ] lwt] junnl ’T/\ S
Ll4e lavger factors... mul u 1
7156 find o friendly : ’ o

4z 49 56 '\ 7 Eadngroup gets 7.

foct you know

D;\'{iderdz <"n+56 - 8 =7 Divisor: amount 4o be sovbtracted Yepeai'edly
Total amev

0 5, Pug @y O3, ©,, O, O

- & - - % -9 -9 -9 -6

Refea'ted Subtvaction 4% 40 31 74 {2 @ 0]

Yovr guotient will be +he number of dime¢ you
subtvracted @ jrom 56 +o reach 0. 56+8-= 7

—




u,a[' racts

P\epreserfcmg O Fram’:dom Tn

900

2z
3
(¥acts of a Growp)

2

—

&

T Nuwmerator
< denomi nator

2 3(”/7. cctuu\/a\evd?

/[\

whole
Nuamlotx”

Fraction

ULLLL

FRACTIONS
> £4F

Y Ei

_2—3.._: - eqaim(ew&

b Lractions

L&




Area = The number of
square units that
covers a shape or
figure.

Square Unit = A unit
of measurement that
determines the area
of a figure (14
squared feet or 14 ft2)

Tiling = When you fit
individual tiles
together with no
gaps of overlaps to
fill a space

AREA

(w)
5 Count the boxes/units!  or Multiply the length Himes width
W) 10 _ - A= Lxw
15 Area= |6 square units A= 3x5
A= |5 square units
. A= LxW
2 mn. A:- 2)('7
7 in. A= H-n‘n.z
Solve for L'
The area of 4his || A:LxW or A+W=L  -The length (L) is
revtangle is 32 9.8 | =  32:=Lx@ T 32+8-=L 4 £4.
32 4x9 32 9= ¥ K. Notice +he L is
o £+. NoT squared.
\Fmd the area! Tiling ! "
gl Zx2= _:!'_ .. s
¥ - pera ﬁgo‘ vpall A=4r3+2+]
| o gl - the tiles. N
? St 4 3 2| 5
t4=12 A= 5+5

A=12 w? A= 10 unit§ squared




PERIMETER

L
Ox i = 32
. ~ Addwp 5+5+4 et
5in. Sin. all 4he o If an ob)ecf B+8+3+%
Sides | 0 +4:= Y is a square, NV
Y in. R all sidés are (0 + lb=32

Perimeter = The = A%t n. 3 #+. 5:.0:;"33("%%“ P= 32 A
sum of the lengths eqym,l.
of the sides of a
shape.

. ~ g £ gked 15m Add the known
Perimeter = . v Congruen‘f sides sides and ‘fl-hen
L+W+L+W l . are CQVM. WYGFOYC, 15m SUWA‘I" ‘From "'O'ta‘

All SideS are Known 2%5m perimeter +o fird

2 5 £k in +his example. ? +he unknown Side.

\I6+16+4 25 + 26

7+t E&F P& o N - A
20 4+ 60 = %0
L P: 95m -

0 + |4 =24 a5-g0 = [\5)

.
P=24 £+ ?

go+ [ = 95




M&ss\na end hMe
715 7 4, |5§\7

ELAPSED TIME

Missin3 duration
12:23° 2?2 &:5l\

Mi&sin3 start +ime

~ Mountains, Hillg, Pebbles
D=Uh BMm

Er\é

Z ocom
SIS 12:45
b D = bh 2.8n
bysL_lem .5 €57,

St sxart | Hour Min
f=19 3:25|-2h

End 1225 | “5M
305 lf . 20| =1 ™




GRAPHS

Types of Books Read

Pud Lad
e Q

o 99999

Pad
=

[
==

wn

11l [Fleeseesss

=

Mumber of Boaks Head
e
[, ]

Monfiction Biography  Fiction Mystery  Fairytale  Fantasy

Pictograph
!Bar graph A type of graph that uses symbols and pictures to
A Graph drawn using rectangular bars to show represent data
how large each value is Objects on My Desk
x x x

Scale = A series of — A key is used to
numbers placed at % e i i e identify the number of
fixed, or equa|, Measurements in Inches categories present n a
distances. _ Line Plot _ graph. It is also called

Line plots who data on a number line a legend

with an x or other marks to show :

frequency



WORD
PROBLEMS
(RACE)

Answer Sentence

* Write an equation
(numbers)

* Restate question
(words)

Explain your answer

* What | know (facts &
operation) (R)

What I did (strategy)
(C)

« What | found (answer

question & summarize
(A)

/Esf

Solve the following word problem using the RACE stratesy!
- Standard: OA3 Uses strategies to solve multiplication word problems:

How many parking :
\\

ar 7'3//—7“ i o N R

thece
IM‘(_’C'I" ﬂ b/ﬂ QHC[ }}/( r Gf % b/O('le Ikl/’(w l
O/VM ;Of(aufﬂf’j |m<,' / V(wL zrra/q
Ik e '/YJ \*-’[9.,:» ac’{\wg )c (gua|
(ou T Ricst 1‘/( W"“ 2 €11 ¢ vﬁ'{ 5 1Y
Zachiqnd T eountc V7 11,21, L T%(rrl
Pa/ h\V]?)PC)*) '

-

Read the Problem

Circle important
info

* Underline the
question

* Eliminate
extraneous info

Choose a Strategy
* Show all of your
work




